

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM504 4-pack		
CPL 1	4	CALB24	24"w Load Bar	\$ 150.00	\$600.00
2	2	CE8CP17	Skipped Option Skipped Option 17" Mesh Jumper	\$ 120.00	\$240.00
3	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
4	2	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
5	2	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
6	2	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
			Skipped Option		
7	2	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00
·	_			V 00.00	400.00
			Skipped Option		
8	4	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$88.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
9	2	CHP54-3	54"h, 3-Way, Universal Corner Post (With All Clips), Post	\$ 126.00	\$252.00
			Trims, Post Base Cap		
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
10	1	CHP54-4	54"h, 4-Way, Universal Corner Post (With All Clips), No Post	\$ 106.00	\$106.00
			Trims, No Post Base Cap	•	*******
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
11	6	CMET12	12"h, Trim Insert for Step Down	\$ 14.00	\$84.00
			CTD Chandard Daire Finish as		
			STD Standard Paint Finishes Skipped Option		
			Skipped Option Skipped Option		
12	6	CMET42	42"h, End of Run Trim Insert for Panel	\$ 21.00	\$126.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
13	8	CMFM4236N0	42"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway	\$ 447.00	\$3,576.00
			Cover No Punch (2)	,	4 • 4 • 4 • • • • • • • • • • • • • • • • • • •
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
14	2	CMFM4254P2	42"h x 54"w, Monolithic Fabric Panel, Power Harness,	\$ 820.00	\$1,640.00
14	-	OIII III-20-11 2	Raceway Cover With Punch (2)	Ψ 020.00	ψ1,040.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
15	1	CMFM5424N0	54"h x 24"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 381.00	\$381.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
16	1	CMFM5424P2	54"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 533.00	\$533.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
17	2	CMFM5442N0	54"h x 42"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 533.00	\$1,066.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
18	8	CMPS36	12"h x 36"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$2,640.00
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
19	2	CMPS54	12"h x 54"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 360.00	\$720.00
			China d Ontion		
			Skipped Option Skipped Option		
20	5	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$85.00
			Skipped Option		
			Skipped Option Skipped Option		
21	4	CSSL1342	13"d x 42"w, Low Profile Shelf	\$ 175.00	\$700.00
			Skinned Ontion		
			Skipped Option Skipped Option		
GCU			Skipped Option		
			COULT IN COULT OF THE COURT OF THE COURT NAME OF THE COURT OF THE COURT NAME OF THE		
22	4	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$1,180.00
			Skipped Option		
			Skipped Option		
			20"d v E4"uv v 22"h Norrou Cradonno u/ Bov/Eila /I T\ Eivad		
23	2	PN2354NCL	20"d x 54"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and	\$ 1,539.0	0 \$3,078.00
			Overlapping Bridges that have a 5"h Metal Open Frame		
			Spacer, PRINCETON		
			Skipped Option		
			~PRNCTOP Princeton Top Finishes		
			Skipped Option		
			~PBODY Princeton Storage Body Laminates		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			•••	Skipped Option		
			~DOOR	Door / Drawer Front Finishes		
				Skipped Option		
			•••	Skipped Option		
				Skipped Option		
				Skipped Option		
24	2	PN2354NCR	Shelf (LT), Overlappir	w x 23"h, Narrow Credenza w/ Box/File (RT), Fixed Locking, Use w/ Overlapping Returns and ng Bridges that have a 5"h Metal Open Frame RINCETON	\$ 1,539.0	0 \$3,078.00
			•••	Skipped Option		
			~PRNCTOF	Princeton Top Finishes		
				Skipped Option		
			~PBODY	Princeton Storage Body Laminates		
				Skipped Option		
			~DOOR	Door / Drawer Front Finishes		
			•••	Skipped Option		
			•••	Skipped Option		
			•••	Skipped Option		
				Skipped Option		
25	2	PN2360CO	Shelves, U	w x 23"h, Open Credenza, Adjustable 6 Position lse w/ Overlapping Returns and Overlapping Bridge a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,357.0	0 \$2,714.00
				Skipped Option		
			~PRNCTOF	P Princeton Top Finishes		
			•••	Skipped Option		
			~PBODY	Princeton Storage Body Laminates		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		



QTY.	PRODUCT CODE		LIST	EXTENDED
2	PN2460OSL	24"d x 60"w x 1"h, Overlapping Bridge w/ 5"h Metal Open Frame Leg Spacer (LT), Use w/ 23"h Credenza, Use w/ Met Open Frame Leg Configurations amd Conference Tops, PRINCETON	\$ 806.00 al	\$1,612.00
		Skipped Option		
		· · · · ·		
		·		
		3		
		Skipped Option		
		Skipped Option		
2	PN2460OSR	24"d x 60"w x 1"h, Overlapping Bridge w/ 5"h Metal Open Frame Leg Spacer (RT), Use w/ 23"h Credenza, Use w/ Metal Open Frame Leg Configurations amd Conference Tops, PRINCETON	\$ 806.00 tal	\$1,612.00
		Skipped Option		
		· · · · ·		
		·		
		Skipped Option		
	2	2 PN2460OSL	2 PN2460OSL 24"d x 60"w x 1"h, Overlapping Bridge w/ 5"h Metal Open Frame Leg Spacer (LT), Use w/ 23"h Credenza, Use w/ Meta Open Frame Leg Configurations amd Conference Tops, PRINCETON Skipped Option -PRNCTOP Princeton Top Finishes Skipped Option -POF Princeton Open Frame Leg Finishes Skipped Option -POF Princeton Top Finishes Skipped Option -POF Princeton Top Finishes Skipped Option	24"d x 60"w x 1"h, Overlapping Bridge w/ 5"h Metal Open Frame Leg Spacer (LT), Use w/ 23"h Credenza, Use w/ Metal Open Frame Leg Configurations amd Conference Tops, PRINCETON Skipped Option -PRNCTOP Princeton Top Finishes Skipped Option -POF Princeton Open Frame Leg Finishes Skipped Option Prame Leg Spacer (RT), Use w/ 23"h Credenza, Use w/ Metal Open Frame Leg Configurations amd Conference Tops, PRINCETON Skipped Option -PRNCTOP Princeton Top Finishes Skipped Option -POF Princeton Open Frame Leg Finishes Skipped Option Skipped Option

ALIAS SUBTOTAL: \$ 26,722.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL 28	8	CALB24	Global CM504 8-pack 24"w Load Bar	\$ 150.00	\$1,200.00
29	1	CE8CI-1	Skipped Option Skipped Option "I" Connector. Female - Female Connector to connect 2 Pass-Through Cables	\$ 88.00	\$88.00
30	1	CE8CP142	Skipped Option 142" Long, Pass Thru Cable	\$ 292.00	\$292.00
31	4	CE8CP17	Skipped Option 17" Mesh Jumper	\$ 120.00	\$480.00
32	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
33	4	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
34	4	CE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
35	4	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00
				*	*******
			Skipped Option		
36	4	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00
30	4	CEONDB		φ 33.00	φ132.00
			Skipped Option		
			Corner Bracket, Left and Right, Sold as a Pair		
37	8	CHCB2	como: Bracket, Lott and reight, Cold ac a r an	\$ 22.00	\$176.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
38	2	CHP54-3	54"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 126.00	\$252.00
			nino, ruot base vap		
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
				Skipped Option		
39	3	CHP54-4		ay, Universal Corner Post (With All Clips), No Post Post Base Cap	\$ 106.00	\$318.00
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
40	10	CMET12	12"h, Trin	n Insert for Step Down	\$ 14.00	\$140.00
			STD	Standard Paint Finishes		
			•••	Skipped Option		
				Skipped Option		
			42"h End	of Run Trim Insert for Panel		
41	10	CMET42	42 II, LIIU	of Kull Hill liselt for Faller	\$ 21.00	\$210.00
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
			42"h x 36'	w, Monolithic Fabric Panel, Non-Powered, Raceway		
42	12	CMFM4236N0	Cover No	Punch (2)	\$ 447.00	\$5,364.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
43	4	CMFM4254P2	42"h x 54"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 820.00	\$3,280.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
44	3	CMFM5424N0	54"h x 24"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 381.00	\$1,143.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
45	1	CMFM5424P2	54"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 533.00	\$533.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
46	4	CMFM5442N0	54"h x 42"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 533.00	\$2,132.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			••		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
-			Skipped Option		
			Skipped Option		
47	12	CMPS36	12"h x 36"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$3,960.00
			Skipped Option		
			Skipped Option		
48	4	CMPS54	12"h x 54"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 360.00	\$1,440.00
			Skipped Option		
			Skipped Option Skipped Option		
			Chipped Option		
49	9	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$153.00
			Okina ad Oation		
			Skipped Option Skipped Option		
			Зкіррей Оршоп		
50	8	CSSL1342	13"d x 42"w, Low Profile Shelf	\$ 175.00	\$1,400.00
			Skipped Option Skipped Option		
GCU			Зкіррей Оршоп		
51	8	PN2030CU	20"d x 30"w x 2.5"h, Cushion for 23"h Narrow Credenza's, PRINCETON	\$ 295.00	\$2,360.00
			Skipped Option		



QTY.	PRODUCT CODE		LIST	EXTENDED		
		Skipped Option				
4	PN2354NCL	20"d x 54"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON	\$ 1,539.00	0 \$6,156.00		
		Skipped Option				
		•••				
		3				
		~DOOR Door / Drawer Front Finishes				
		Skipped Option				
		Skipped Option				
		Skipped Option				
		Shelf (LT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON		•		
		Skipped Option				
		~PRNCTOP Princeton Top Finishes				
		Skipped Option				
		~PBODY Princeton Storage Body Laminates				
		Skipped Option				
		~DOOR Door / Drawer Front Finishes				
		Skipped Option				
		Skipped Option				
		Skipped Option				
		Skipped Option				
4	PN2360CO	24"d x 60"w x 23"h, Open Credenza, Adjustable 6 Position \$ 1,357.00 \$5,428.00 Shelves, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON				
		Skinned Ontion				
	4	4 PN2354NCR	## PN2354NCL ## PN2354NCL ## PN2354NCL ## PN2366CO ##	Skipped Option 4 PN2354NCL 20"d x 54"w x 23"h, Narrow Credenza w/ Box/File (LT), Fixed Shelf (RT), Locking, Use w/ Overlapping Returns and Overlapping Bridges that have a 5"h Metal Open Frame Spacer, PRINCETON Skipped Option -PROCTOP Princeton Top Finishes Skipped Option -PBODY Princeton Storage Body Laminates Skipped Option -Door / Door / Drawer Front Finishes Skipped Option -PROCTOP Princeton Top Finishes Skipped Option -PROCTOP Princeton Top Finishes Skipped Option -PROCTOP Princeton Storage Body Laminates Skipped Option -PBODY Princeton Storage Body Laminates Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
			~PBODY	Princeton Storage Body Laminates		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
55	4	PN2460OSL	24"d x 60" Frame Leg Open Fran PRINCETO	\$ 806.00	\$3,224.00	
				Skipped Option		
				P Princeton Top Finishes		
				Skipped Option		
			~POF	Princeton Open Frame Leg Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
56	4	PN2460OSR	24"d x 60" Frame Leg Open Fran PRINCETC	\$ 806.00	\$3,224.00	
				Skipped Option		
			~PRNCTOF	Princeton Top Finishes		
				Skipped Option		
			~POF	Princeton Open Frame Leg Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
			•••	Skipped Option		



ITEM QTY. PRODUCT CODE LIST EXTENDED

ALIAS SUBTOTAL: \$ 49,984.00

TOTAL EXTENDED LIST: \$76,706.00